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A knot diagranﬂ Clp €4 €3 €9 Ci1 C2  Cg Cp
Ideals for irreducible component#ﬂ)f Xpar

It = (u® —u™ 4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 45 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I* = (u* —u** + ..

(i) Arc colorings

)

c—u—1)

—ul7 4+ 8ul® — 25u3 + 36wt — 19u° — 4u” + 2u® +4ud —u
—u'® 4+ 9417 — 32015 + 55013 — 43wt 4+ 9u® 4+ 4ud —ud +u
—u

10 4 508 —8ub +3ut + 1% +1

—u?t 4+ 106 + - — 2P —u

a5 =

1
ailz = \0

1
alg = U2

—u

as = \ —u3 +u

ud — 2u
az = \—ud+u

—u?+1
ag = \ —yt + 22

ub —3ut +2u%+1
ap = u® — 4ub + 4u?
ag = <
ag = ( wl® — 448 + 5ub — 2ut + u?
ag — (

—u3? +15u30 4 -+ 20 + 1
ar = \ 32 — 14430 + -+« 4+ 208 — 20t

—u3? +15u30 4 -+ 2u% + 1
a7 = \u3? — 14030 + ... + 208 — 2u?

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u*? + 76u*0 + ... — 4y — 2

)

w?l — 9u? + 33ul” — 624! 4+ 6203 — 33wt + 13w — 6u” +ub —ud +u

)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Ce uP o fu—1
C2,Cs5,C7 w1+ —u—1
€3 u®® F3utt o Tu 43
C4,Cy, C10 u® M -1
Cs u®® ot 4 4 4du — 40
ci1 u'® — 9u + -+ 4 729u — 89




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cg v 1My — 1
C2,Cs5,C71 yP ATy -9y — 1
c3 Y 5yt 131y — 9
Cy4, Cg, C10 y45—41y44+--~—y—1
cg y*® + Ty + - — 11024y — 1600
c11 y* + 19y + .- — 92805y — 7921




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —1.081740 + 0.1032221

—0.55475 — 2.538201

—1.85794 4 4.980621

u = —1.081740 — 0.1032221

—0.55475 + 2.538201

—1.85794 — 4.980621

u= 1.17086

2.04246

5.49400

—1.177900 + 0.2215821

5.59455 — 6.243711

4.08567 + 6.120761

—1.177900 — 0.2215821

5.59455 4 6.243711

4.08567 — 6.120761

= —0.327711 4+ 0.7022551

5.55749 — 9.331091

3.17264 + 7.990891

= —0.327711 — 0.7022551

5.55749 4 9.331091

3.17264 — 7.990891

0.336008 + 0.6918871

5.95973 + 3.049601

4.06449 — 3.141191

0.336008 — 0.6918871

5.95973 — 3.049601

4.06449 + 3.141191

1.213100 + 0.2138501

5.84619 + 0.305111

4.74215+ 0.1

1.213100 — 0.2138501

5.84619 — 0.305111

4.74215+ 0.1

—0.591876 4 0.4482891

6.60488 + 5.359171

5.58298 — 2.282641

—0.591876 — 0.4482891

6.60488 — 5.359171

5.58298 + 2.282641

= 0.568197 + 0.4624501

6.90053 + 0.896791

6.21998 — 2.869961

0.568197 — 0.4624501

6.90053 — 0.896791

6.21998 + 2.869961

—0.269512 4 0.6704571

—1.92036 — 5.511471

—2.23282 4 8.801931

= —0.269512 — 0.6704571

—1.92036 + 5.511471

—2.23282 — 8.801931

= —0.019331 + 0.6698751

2.10207 + 2.939261

—0.68998 — 2.618031

—0.019331 — 0.6698751

2.10207 — 2.939261

—0.68998 + 2.618031

0.283883 + 0.6055011

0.18779 + 2.087071

3.93114 — 4.061481

0.283883 — 0.6055011

0.18779 — 2.087071

3.93114 + 4.061481

—0.174737 4 0.6303701

—3.06951 — 0.404231

—6.40296 + 0.790131

= —0.174737 — 0.6303701

—3.06951 + 0.404231

—6.40296 — 0.790131

= 1.370030 + 0.2366691 1.84057 + 3.539251 0
= 1.370030 — 0.2366691 1.84057 — 3.539251 0
= 1.389940 + 0.1389701 5.13702 — 0.604201 0
= 1.389940 — 0.1389701 5.13702 + 0.604201 0

= —0.535574 + 0.2507431

—0.56423 + 2.113301

1.09230 — 3.694011

gle|f|f|g|g|g || |f|g|g(g|g|g|g|g(g|g|g|rg|g|g|g|g |-
|

—0.535574 — 0.2507431

—0.56423 — 2.113301

1.09230 + 3.694011

u = —1.40867 + 0.186551

6.35213 — 3.350031

0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —1.40867 — 0.186551 6.35213 + 3.350031 0
u = —1.41039 + 0.238411 5.60817 — 5.196851 0
u = —1.41039 — 0.238411 5.60817 4 5.196851 0
uw= 140670+ 0.261771 3.43096 4 8.910091 0
uw= 140670 — 0.261771 3.43096 — 8.910091 0
u = 0.346105 4 0.4273361 0.805234 + 0.9742681 6.02798 — 5.004921
uw= 0.346105 — 0.4273361 0.805234 — 0.9742681 6.02798 + 5.004921
uw= 143383+ 0.271471 11.2002 + 12.87981 0
u= 1.43383 —0.271471 11.2002 — 12.87981 0
u = —1.43584 + 0.266141 11.63810 — 6.543541 0
u = —1.43584 — 0.266141 11.63810 + 6.543541 0
uw= 145671+ 0.139631 13.09220 — 3.342841 0
u= 1.45671—0.139631 13.09220 + 3.342841 0
u = —1.45665 + 0.148561 13.32800 — 3.027861 0
u = —1.45665 — 0.148561 13.32800 + 3.027861 0




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Ce uWP et a1
C2,C5,C7 uP 4+ 1M 4+ —u—1
€3 u®® +3utt 4+ Tu+ 3
€4, C9, C10 A R T |
8 u®® +ut -+ 44u — 40
11 u*® — 9utt + - 4+ 7290 — 89




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Ce yP 1Mty -1
C2,C5,C7 Yy ATyt -9y -1
€3 y*® — 5yt 431y -9
C4,Cg, C10 y45—41y44+~~-—y—1
c8 y¥ 4+ Tyt 4. — 11024y — 1600
c11 y* +19y* + .- — 92805y — 7921




